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,Q�RUGHU�WR�SUHVHQW�VWDII�WR�WKH�%RDUG�IRU�UHQRPLQDWLRQ�EHIRUH�$SULO ����WKH�IROORZLQJ�
WLPHOLQH�ZLOO�EH�XVHG�

$SULO�± )HEUXDU\ $GPLQLVWUDWRUV�FRQGXFW�FODVVURRP�
REVHUYDWLRQV�RI�VWDII�

)HEUXDU\�� 0LG�0DUFK $GPLQLVWUDWRUV�ZULWH�&XPXODWLYH�
$VVHVVPHQWV�IRU�WHDFKHUV�RQ�,QGXFWLRQ�
3DWKZD\�

0LG�0DUFK��DSSUR[LPDWHO\�0DUFK���� &XPXODWLYH $VVHVVPHQWV�DUH�VHQW�WR�WKH�
&HQWUDO�2IILFH

0LG�0DUFK��DSSUR[LPDWHO\�0DUFK������� &HQWUDO�2IILFH�$GPLQLVWUDWRUV�UHYLHZ�
&XPXODWLYH�$VVHVVPHQWV�

(QG�0DUFK��DSSUR[LPDWHO\�0DUFK������� %RDUG�0HPEHUV�UHYLHZ�&XPXODWLYH�
$VVHVVPHQWV�

)LUVW�%RDUG�0HHWLQJ�LQ�$SULO��EHIRUH�$SULO���� 6WDII�DUH UHQRPLQDWHG�

2Q�RU�EHIRUH�$SULO��� 0DVWHU�7HDFKHU�3RUWIROLRV GXH�WR�
&HQWUDO�2IILFH

%HIRUH�$SULO��� 6WDII�QRW�EHLQJ�UHQRPLQDWHG�DUH�QRWLILHG�
E\�WKH�6XSHULQWHQGHQW�

1RWH���7HDFKHUV�PD\�EH�SODFHG�RQ�DQ�2EVHUYDWLRQ�&\FOH�DW�DQ\�WLPH�LQ�DFFRUGDQFH�ZLWK�
WKH�*:56'�3URIHVVLRQDO�'HYHORSPHQW�0DVWHU�3ODQ�
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